NOMBER, TIME SEQUENCE, RANKING AND COMPARISION :-(H~8¢

s i I /

i
"“._i‘ﬂ‘-‘ e e

Preceeded — P'rev‘lous — Before -~
preceeded by 4 is 3 — 34
" Fotlowed — Aftery —s Next

. : /
I+ How  many Hmes 1, 2, 3 are  come consequently in  which

betng in the middle ond 2 and 3 are either sides of -

A \ Q@B i agyc (122 33Y "'

Q3
3112

Ans i~ 'S ﬁmes /

L HOW many  euen dtqi-tg are there in  the <Fououafncj Sequen

which are immediately Preceeded to euen d&ai«t P*rodud:s s
Gl o ) even NuMb ey 9 |
A- Q3QH§H 36 6 735 496 186 Y% T3S 4§, 273 Y6
(exe) e (oxo0) Q_é\,eﬁ
c c o O - 0dd

Ans - Connot be  determined .



nols  of ore thee cahick ”

z- Tn obove _gec[/uehC@_ howt many @uUeEh
is

(mmediedely PTOC&@de bnj +two  cveh d“gi‘t‘ Fv‘oducv‘cs

aye
odd -dégte P roduct™ (s cquat (e

Sub-trqcﬁné Rom —fotiowed by
on odd number. |
A) (e§3), 02
Nohe .
such odd no- AYE thers

Y- TN +the “('b»uow‘mﬁ hows  many
which are divisible bj 3 or by s, thed ~followed by odd nNos
/

aft{ 4then also ollowed bxj cuen no\'s‘

seres

o) NitL b) i c) 2 d) three |
4s, 9, 5C, sz, S
NNREY 2 ! &<, $6
odd no - odd even — O
/ (DEUiSib(ca
bad 301‘5’)

5. How many Aumbers oxe theve from | to ISO which ave

cxacﬁ\j bLJ 7 but not b‘d 3-
09 L b) 5 c) & d) 7
A) 7, 14, (") 28, 38, @ 49
. i /
PS5 N0 | |
by Hov only  prime nals 1€y (7.3) basth

shortcut - @Pi\‘caﬂﬁ

are P‘i’i\m Aumbers -
79
56 - 7
4 o
(7-2) =S
which ore exacity

G- How Mmany NO: e there Fom 1+ to So
b\j 3 -

by 7 and also dluisible
A 7, @F) 28 39, 49
Ansi~ Q@ No's

/



7 Hdw mantj ho;

exqch’g !otj T

o@'e there fom | < 700 G) which are @

but- 070*# by 3 () which ave @(qcﬂtj dlutsible

by 7 but alse by 3-
A) (1) 7_‘3_0; = 100 -~ (|QO._33') = 67 NO’S
7 3
cn) 180 =
N B
&« How many no's are -there &om | to &) which are
divicsible b‘j 9 not by 3 p
ANS - ZEYo -
, N N
T How many nds  are -there Ffrom 1 o &t which are
eKClC'Hlj dlvisible by 3" not by 9

ANSi- 3 ¢ @ 12 15 ' Y @30 33 .30, L(z.@
© 3@ 51 e @ e o1 @ 5 7 @
Total 18 No's
shortceudt - o, .
R’ b = ol =2
I to 8 y 3 3
I to 81 by 9 = & =19 >
Q — .
18 /
Note L -
D { uare
Like in aboue -ype of problems H anyone (S S
Of anocther, -firet divisible  With lot\g no. -then not divisible woifl
: /\ + \
Smay NG - Posstb‘\“‘hj s not Pmsenf- £irst divisible with smad -

no. then not divisible with blq no's  possibllity  present- Fnd

such po sSibilihes os

10+ How mMany no's

“fotlouas -

are ther Gom 1 to wooo O which Qe

divistble by 4 but nNot by 2 (i) which digisiple by 2 bub

not by & -
A) f) zero
) yooo = r600
o
Y00 = 1000 (.
\..l
200N D).

/

P VY tann amalc .



Ti- The numbers fom | B 85 by Which Qre EXactly CruIsBIe s

by & ore awcmcaed om ascgf\d;‘mj ovrder  fom top - Hhen

which ng- witt be u™ positon fom -top-
A- 5 IO 15 20 as 30 35 4O 45 SO € 60 &5 10 75 80 g5

Shovteuty -~
e

For oscendt\nc:’ ofder from ~top O txs =SS

IR- TH Qbovg  probiems which  ne. wit be is {n L pastion from -

bottom.
A BS o9, (V1-1) = &+ = IRS =35
s ~ N
Note~

i, ooyt fom Small NO- -then freq/un‘r@d no- s gc@uq(«m

cjiucgn ﬂu;Y\ber ot Posi‘tf‘on % pivigible numbev:

2- T starts fom b%«a nuMmbey  then v%u:‘rad numbey s eguel

to (Totol - Given position) X Divisible Numbey.

13- TN abow problem (ohich — pumbe ¥ witt be 5 O s:?"h’ faosa“frﬁm

oM  bottom .
/

A é_gs; =11 = (11-1s) = (&+) ) xS = IS

4. MiHhun  woas C_oum'ﬁnca down  Rom 32+ sumit was counting

Wardse -the number siavtng fom | ond -he was calldng oud™
N do

_ON\:I the odad no. and whab coOmmMon  pumbey wittt be QCLUEA(E
out ot same -tme and some Sre'@d.

: /
) 19 b) &l o) 22 d) they wiu not cau out fhe sme no-

L%

A) Mithun «+ 32, 3t, 30, 29, 28, 27, 26, as, 24, 23, 22, 24 20, {7

SLumit 3 |/ 5[ S—__, 7, i, ]-‘3‘; &, ]-7/ QO;/ «li/ 2.3 -
tse of st OJ\d ond d?g?’cs in -the Seq/uehcﬁ SqQ8 ([ 327 438 aw
/ : .
interchanged  ond Ao 3™ and K™ digis, st 5 6™ digits and

So on, which digit wll be 77 counting to your lefe:



¢ A) shortcut:- | .

s 7 fom right
& For odd no- add i
' . /
71 =8 fom right
RS @ b3 2 7T 4 32
= &

6. F -the position of the 7 and €™ digits of Sequence
/ .
Oof 8903214875 ave J‘foETChoJ)aCd 2 and 7 and so on Wwhi

no - 'UJoulld be ™ Ko w‘ah-f— end.

N
Q) a b) & a7 d)8g -
R =7
A) 8 9 0 3 21 Y4Y&e 71§ 3-g
I 2 3 4 ¥ 6 7 89 15 4 -9
S —(Q
7 om Ti‘ﬂhﬂb end = 3 i+ interchanges /

Fom 4 1o 9 hen 9N jetker = 7

ab<ut

V7. Th& letters Ly M,N, O, P, Q, R, S T in  their Order AT Substi
By 1 integers 1 to 9 but aot in that order- k is ascend t

P- The difference bjw ¢ ¢ T is 5" The ds'«(f(ére)nce bfw N § T

1S 3 what s mt—egev oscend 4o -

)k b) § & 6 ) 7
A Lt T = (0 9 (not in that ordev)
Gy P=uw; (P~T) =5 be,,  P-T }:5
(:f) N =T f -3 ,
T-N
@) P-T =5 2D Kh-T =S = T = - (Tt s not i 1 to9)

b) T—P=5 = T-4 =5 = € =9 (OK)
©) N-9=3 2 N =23+9 =12 (x)

d) T-N=3 =5 q_pn=3 = N=g (ok)



[« 3

19 -

36

YO -
+there oare 2 scootevs ¢

work out the how many Scooters  ip  Hhe 20¢ hak of the row. -

-.\;&.’P {eles

After “Arst

4 2 3

C, s c,

' 16 (]

IS ,

Cs' =S s

o 8 2a 30

<y s s
Shbvfc_d‘l.‘ :/-—

the -folowing sequence of instructions
9 gbcmdé for stop and 3 stands for GO,

5 atands for walt the se-ciueme

c, 1 Cyp 2

Ay

S
S s
18 ]
s S
31 32

s

are parked (na parking ﬁ@*@w}d in a single
§ 7 J o .

thare 1 | Scogiey, oftey Second Y

Aftey 3 cars, 3 scooters Ad s6 On

& 1 Q] q |O u p2 13 1Y

Q0 o N | QAL 23 24 Qs 26 L7

s &g s S S 3 s S
33 34y 35 36
~ N

(ig=3) =iy nNa's

/———J?\

Qy'S‘CGGC,’ g

+ i 2 E e34) FUFIFSTHI+E HITIED = 36

(1& -3) = s No's sooters -

N

3 co¥s

¢

Séctpteﬂoe; s next -

Lt

B s oy 5 3 R

&) wait 7 b) sit

c) o

5

in sccond half

y stands Tfor St

g continued, theh which

3%%53\2—%5'%

d) Run

= "f:df)

i Stonds for Yuh o



RANKING TEST  (1-2M) @

B I e

re N QA YOow  your Posf*h‘on is s Fam either ends theh how

many - Mmembers in  the yow? Py

f\)tQSH{S’ ' ' , | ;
s 3 =1 . .

O —1 =q
A o
Only one person S c_ounh‘ncj e so subtract A

S
2- RamaraN i et fHom ~to{> and yah fom bottom O a.

clgss - How many members  are there 0 -’(‘h@./cto;55~
A - re

Ya
65 —t = &Y

3. Monisha. vanked 16 fom {OP and aqth  bottom among
those  who passed  an  examinabon g boys ol not pax hed pote
in sthe comlseh‘ﬁon AN 5 Fajlures O Ahis - then how many

members are . in the class.

A 16 | | :
2q B
4y -1 = uy - passed ' |
o 6 — Abstanhes

S - ails /
s¢

e TN a Yo of 12 boys vamu who s SN from  leftend -
then what s his Posiﬁ"@ n  Fom -.ﬁa hi .
A. 1 2 3 4 s 6 1 & 9 o W 12y,

IR -5 = 741 = gth from “‘”‘8"‘*

6+ Manoj ond sachin ar  vanlked T qpg (it ﬁ’QQPGCHUélﬁ from
‘t‘oP in o class of 21 students . phat witl be 4he regpecfive
Yanks &om baotom -
Ae M= 7 2 Moy = Mo
S~ 1 |

= P Saioper TSy,



A)

. In Q vbus  of givris

from ﬂﬂht and

ro beﬂs ~when vohit was gh&(ﬁfed Ve

, i X . 'fT\ &
rectn. and mouniko ocuples 9 plac

bl cnd Tespectively * BF T

| Tout Piac:e fFom
.

veeta., and mounika occuples |

i rr're’"(‘chonae Ahei places
0 the YOW-

gt st fom  left - How Many qirs  ave thelir

o) a5~ b) 26 9 27T a) mone of these.

Riq Mig
D7 -~ =26 M- =26

mn a gue of  chiwdven kilas s S;‘rh Fom et and moha 1

&th  from /w‘igh{-- W hen | *HW&J i‘n'fajfdﬁcﬁge their P(CLC(*ZS among Fhem

Kilas become 1M Fom left then what wit be  mMmonak Posi“‘ﬁ“o'ﬂ

\ jfrom Y‘\"th .

A -

Q) it p) 8 o) 4 o) IS

t&qu567sqcou 3

4 4{ [ ——

%
Mtt{ 1312 41 10 4 8 1 le

7

n a row ©f
. th y 4 &
ploces towards  left, he become 7 Frem et end  whal- wadts
he posihon earlier Hom  yight- end - 'y
P d +— left
, 2 3 4 s 6 @G & a 0
ond F(i‘pm *r?%h{— |
' \ oth and Teeha (S
TTn a  vyow of atﬂs smF& e g from jeft )
4 [y . . N N Ay LN S- N
(1t from  vights I they interchange their Posrhoh, hitpa.
becomes i drom  lefte thow many givis in the Yow: Y
a) as N b 27 c) 29 d) Nohe - N
S 13
t 2 3 4y s & 1 8 9 (0 U [
y 32t
Riq 6 1s 14 (3 12 ULotoA g7 6543
Sty
31 —1 =30
A} L N\ ¥}
one P‘\ace s counb nq 4o Hmes so  —ve



; ™~ KIS
€
—> G +8 =ty

Ans - 1y -

jo- o0 o vow CGF boys kapit i< e from “ﬁ\gh@ Nikand 1S
iRt frem  lett - When K&F'i( and  Nikans  inte TCP*;(JJ‘»E) e thely
position - Nikun)  becomes ot fom et Which Q«F—'%ci Kapll —
position  fom  Tight i

a) & b) 17 a) QU d) cannot: VRN

ND__ q Kg k
Ky >< Ny -
1+ ©n a cube Amvuatha is (ot fom front while Hukdl is
asth «fom behihd and Mamatol s Just in middie of *wo- _ 7
There will be sp persons in cube ¢ What Posi/ﬁon mqmcﬁﬁk-
@CC\—‘F{ES fom  front -

A 20 b) 9 c) & ci) (7

A) Total = so

AIO _ H%LS‘
/
SO - ('10+as) = SO -35 = 1S =15 = 8 {om left and
2.

IO+8 = 1% .

2. 0 @ cube viday s 1w fGom  frent ond  Jack  is 177 fom
end Whlile movry s in  blw V;J'a,j and  Jack - T ufjmj be
chead  of Jack and there will be ys petsons in gque- Houw

Many persons in  bfw mary and  Vijay - 4

&) R ) 7 SIS ) S

A) Total = yg Viq M Ty
Ug ~(v+17)
2 ys-31 = 11 = g.s = o pevson s mary s
2.

T™h  kb/w UUC‘»‘j anal HG"\J = 8 Nao's,



13- Three persens A, B, C ave S‘l‘cu»dm? in 0 Q- Ther aore 5 6
bjw 8 F C - e thew be 3

£
1

perscns blw A& B 8 pcveons

P&‘*‘Sons abead of ¢ and al persons behind A- What coud

be +the minp no- of persons in  the gue .

Q) e b) HO o) 28 o) 27 L
N
A| { Q.VA S B N & C 3 e
2l + it *l+gtl+3 = YO |
S 3 . & (B . . -
i) <«—=— C & aheod [ behind
-6 . N
/ i | e =2
341+ 841 +\S = 28" o «— & ;o
Bchind | Ty
e ff\)
A 2L :



5% a- Y ' 7 - N QQ e

oy

COMPARISONS

/
small - Tat
Ljounger eldey -

Richey —

t+ A IS talter thon 8, who Is shovker -t}nn C - :

m>0

2- sachin IS taller  than kopil but Shortev than phoni. yuvras

W is talley  than Po_thom but shorkery ‘than KO’PH'

A- Dhoni ,

Sachid \U/ Po:thcm s shorker .
kQPFl

Yuuval

Pdthai')

z- Rohul s  taltey than Ronian but <hovter than Gunsan -
\h‘)ouj and shavat- ore sShovker than  Gunan - Vi J‘osj e shorter
than Ranjan but 4atler  than the one who & <hortest

amoung them . NFth decemding  order of the  Yights who s
in o yh loosfﬁon-

A) Cﬁurﬂuﬂ
Rahul
Ranian
viiay — w™ person.

asharot

H- lalu 8 w@Mer thanr Ralu  but shortey than  kalu - Malw
s —taltey —4han valu but shovtey +han Ralu- twho (s Shovtes
QMOUI')Q ‘them

A Kadu /

st
' '5“’;_‘&% Ladd

) 2ol

v ———

Radu
Madw

Jj/ cannct  be  dedrrmined

nd ,
2 eSS x



| 5- .I—;éf rsvo!u?ncjv Above %U@S*'t‘?@h ‘thfd\ are *‘J‘h@*FoLtowmg
ctatements ore Ttrue s

A) Haluy e taler thon Ladd
g) Ralu re talley than kalu
&) Malu ts tadler -than k alu
g) vald 18 tadler  than  lalu

Ans :- ),
cannot be cetormined
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